[a]  (2tx—2x—4t*x)di +tdx =0 FINAL ANSWER: x = (2/ + Cte™')?

ToTAL 2x—2x — 412 x + 1 =0
@ ["‘+(2 )x:4t\/;]4- BERNOULLI 7 = 5 At fTEpas @ PoOINT
Let]g:x' %:x%l ON A1t @L/BgAT/DN_S
~So.%:%x T oand &= =2y - UNLESS WH%J_SE
L2x5ﬂ+(2—7)x:4t\/;] _
INDICATED

@y (1-Dxt =2

dt
| & +(1-1yv =21 |« LINEAR

\)’-l_ I(l‘})"" _ r~lnm vl r‘
| e 44! t'z)ev—2e|
| CHECK: 4¢7'e’ = —1¢' +1'¢' v |

) e’y = [2e'dr = 2¢' +C |

\v=2+Ce |
Lt =2¢+ Cte"@

Lx = (2t + Cte ™ )?|




[b] (0 -r)' - =r? FINAL ANSWER: rfe” = C

TOTAL— OO -r)L -6 —r*=0

(0> —rO)dr + (=0 —r*)dO =0,
@ L(t0)’ —(tr)(t0) =12 (6> —r6) and — (10)(tr) — (tr)’ = 1*(—6r —r*), ®« HOMOGENEOUS

Lety = v |
(0 —vOH)(vdO + Odv) + (—vO* —v*8*)d0 =0,

(1-v)(vd + 0dv) + (—v —v*)dO =0
(—v=v+v-v)dO+(1-v)8dv=0
| —2v’dO+ (1—=v)0dv =0 |
2v°d0 = (1-v)0dv
[2d0=[(v? —v")dv « SEPARABLE
2Mmlgl+ C=—v" = 1Inly|,
(2106 +C =2~ 1nfs] (D)
21n|6|+ C = =2 —In||+In|¢]
ln|(9i +C = —% -~ 1n|r|
CO=e "

HS?eg =iC .,

ALTERNATE SOLUTION

GRADE USING ONLY ONE SOLUTION

[b] 0 —ry'—6r = r? FINAL ANSWER: rt'EJeg =

OO —1r)L—or—r*=0
(62 —r@)dr + (=0 —r>)dO =0,
(t0) —(r)(10) =17 (0" — r6) and — (1O)(tr) — (tr)* = (=6 — r*), ® HOMOGENEOUS
Let @ = vr,
(V= vr?Ydr + (—vr? = 1) (vdr + rdv) =0,
(v =v)dr+(=v=D)(vdr +rdv) =0
vV =v—vI=V)dr+(—v-Drdv=0
—2vdr+ (—v-Drdv =0,
=2vdr = (v+1)rdv

I—%dr = J(1 +v™')dv ® SEPARABLE

!

=2+ C = v+ Inly|,

\ —21n‘r[+C:—?+1n|%L
—2In|r|{+C =2 +In|6| - In||
C =2 +1n|6| + Inr|

rée’ =C




(] dy _ sinxcosy

TW/ { —sinxcos ydx + (1 +cosxsin y)dy =0 |

@ M =-sinxcosy = (M, =sinxsiny | @

N=1+cosxsiny = |N,=-sinxsiny|

\ N,-M,  2sinxsiny = 2sin y l« FUNCTION OF ONLY y

M T —sinxcosy cos y

= = FINAL ANSWER: cosx +siny =Ccosy
dx l+cosxsiny

2siny
Zsing 4,

05 ¥ = e—ZIn\cosyJ

\yzej =seczyl
l — sin xsec ydx + (sec’ y + cos xsec ytan y)dy =0 |
M =-sinxsecy = | M,6 =-sinxsecytany

N =sec’ y+cosxsecytany = | N, = —sinxsec ytan )| v @ EXACT

f=I-sinxsecydx = | f =cosxsecy+C(y) |
i {cosxsecytany-kC'(y)=seczy+cosxsecytany’ :>I C'(y):seczy] = 'E(y)=tany \

2.)" /¥ cos xsecy + tan ) £ C| @

| cosx +siny = C cos y|
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